EVALUACION

1.) Elvalor de /- 81

= ?
a) =9 b) 9.i c) =9.i d) 3.i e) =3.i

2. ) Alreducir +/-24=7

a)2v6  b)-2vE ¢)2ivE d)-2v6 e)6iV2

3.) Al reducir la expresion +/ =25+ v/ =144 =/ =36 =7
a) =11 b) 11 c) 11.i d) =11i &) N.A.

4.) Al desarrollar y reducir la expresion (3.4v/=25 =2.+/ =9 }2 =7?

a) -9 b) 9 c) 81 d) -81 e) -81.i
5) Elvalor de iZ¥7 = 2

a)- 1 b) - i c)1 d) i e)0
E"J iaﬂ - iEEI =7

a)-1-i b) -1 +i c)i-1 d)1+i e)1-i
7.) Elproducto v=4 x v/=36 x /16 =7

a) -48.i b) 48.i c) -48 d) 48 &) N.A.
8.) Si nelN vy n es par entonces 2N =7

a) -1 b) 1 c)i d) -i e)0

ALTERNATIVAS CORRECTAS
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